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The Querhion paper aonsists ol Aguestions divided into tonr sections A, B, Cand D.
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From a point 20 m away from the foot of the ower, the angle of clevation of the top of the
rower is 3% Tind the height ot the tower,
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PQand PT are tangents to a circle with centre O and radius 5 cm. If PQ=12 cm then find
perimeter of OPQOT. ' i '
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Using quadratie formula solve the following quadratic equation in x ¢
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In the figure, QR Is a tangent at Q to a clrcle, whose centre s P, PR||AQ, where AQ. s a chord through

A, an end point of the dlameter AB, Prove that BR Is tangent at B,
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The angle °f"-'|:fatton ok e el 2, dofz =a& gird =1 354 190 e fai H45° 87

15 metres from its foey Lhe top of the first story of a building is 30° at a point on the ground distant
* o_w high its second story will be, if the angle of elevation of the top of the
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The points A(— 2, —5
A from ' D t BIG\;? :nd cz, _33 are the vertices of a triangle. Find the distance of the point
a:3. ’ e divides the side BC in the ratio
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The mid-point i iy
e-point of the line segment joining (4p, 5) and (2,3q) is (5, 5p — 1). Find the values of p and q.
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A plot_of .land is in the form of a rectangle of dimensions 240 m x180 m. A drainlet
10 m wide is dug all around it and the earth dug out is evenly spread over the plot, increasing

its surface level by 25 cm. Find the depth of the drainlet.
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The cost of fencing a circular field at the rate of ¥ 30 per metre is Z 6600. The field is to be ploughed
22

at the rate of T 1.50 per square metre. Find the cost of ploughing the field. (Use = = —7—}
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TWO i
Plpes running together can fill a tank in 3 -1 m;
13 Minutes. If one pipe takes 3 minutes more

thﬂn_the Oth Sy e
er to fill it, find the time in which each pipe would fill the tank.
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If the roots of the equation (32+b2)x2 2(ac +bd)x + (c2+d2) =0 are equal, then prove that
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AAPBURER ®I
 Two tangents are drawn to a circle with centre O, from a pomt P. If OPis equa! to the diamete

circle, show that AAPB is equilateral.
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CA =6 cm and AB=7 cm. Construct another triangle

Construct a AABC in wh:ch BC=5cm,
7 imes the corresponding sides of AABC.

A'BC each of.whose sides are 5
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."-The angle of elevanon ‘of the top B of a tower AB from a point X on the ground is 60°. Ata Egt;;d e
m: vert!cally above X, the angle of elevation of the top is 45°. Fmd the heught of thg tower
distance XB. F ;
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'\ box contains 100 cards marked from 1 to 100, 1f one card

find the probability that it bears

(l? a single digit number

(l.l) A number which is a perfect square

() a number which is divisible by 7

y the box,
is drawnm at random from
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Prove that the points (0, 0), (5, 5) and (-5, 5)are the vertices of an isosceles right angled triangle. T
: the length of the hypotenuse and also find its area.
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T.i;;ee cows owned by three farmers are tied at three corners of a triangular plot with ropes of 7m
o

length each. Find the area grazed by cows. What value is depicted by the farmers ? (Use w = "—; )
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The diameters .
of front and rear wheels of a tractor are 80 cm and 2 m respectively. Find the

Aumber of revolutions that rear wheel will make in covering a distance in which the front
whee] makes

revolutions.
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24
Turkish Cap. If the curved surface area of the remainder is 5= of the curved surface area of

she whole cone, find the ratio of the line segments into which the cone’s height is divided by
the plane from which the cut is made.
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